ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6209 - Furnish, Haul and Spread approximately 1,200 cu. yds. of processed road gravel (22-A Modified) at one (1) location in Heath Township.

R. Smith & Sons	Location #1 =	1,200 cu. yds.	@	\$15.53	=	\$18,636.00
				Total	=	\$18,636.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6213 - Furnish, Haul and Spread approximately 1,700 cu. yds. of processed road gravel (22-A Modified) at two (2) locations in Leighton Township.

R. Smith & Sons	Location #1 =	1,000 cu. yds.	@	\$14.69	=	\$14,690.00
	Location #2 =	700 cu. yds.	@	\$14.69	=	\$10,283.00
				Total	=	\$24,973.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6214 - Furnish, Haul and Spread approximately 6,250 cu. yds. of processed road gravel (22-A Modified) at nine (9) locations in Manlius Township.

R. Smith & Sons	Location #1 =	650 cu. yds.	@ \$16.53	=	\$10,744.50
	Location #2 =	600 cu. yds.	@ \$16.53	=	\$9,918.00
	Location #3 =	1,000 cu. yds.	@ \$16.53	=	\$16,530.00
	Location #4 =	750 cu. yds.	@ \$16.53	=	\$12,397.50
	Location #5 =	700 cu. yds.	@ \$16.53	=	\$11,571.00
	Location #6 =	750 cu. yds.	@ \$16.53	=	\$12,397.50
	Location #7 =	200 cu. yds.	@ \$16.53	=	\$3,306.00
	Location #8 =	900 cu. yds.	@ \$16.53	=	\$14,877.00
	Location #9 =	700 cu. yds.	@ \$16.53	=	\$11,571.00
			Total	=	\$103,312.50

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6223 - Furnish, Haul and Spread approximately 4,275 cu. yds. of processed road gravel (22-A Modified) at four (4) locations in Watson Township.

R. Smith & Sons	_	Location #1 =	1,125 cu. yds.	@	\$17.45	=	\$19,631.25
	21AA	Location #1 =	125 cu. yds.	@	\$35.76	=	\$4,470.00
		Location #2 =	1,150 cu. yds.	0	\$17.45	=	\$20,067.50
	21AA	Location #2 =	125 cu. yds.	0	\$35.76	=	\$4,470.00
		Location #3 =	1,000 cu. yds.	@	\$17.45	=	\$17,450.00
		Location #4 =	750 cu. yds.	0	\$17.45	=	\$13,087.50
					Total	=	\$79,176.25

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 62224 - Furnish, Haul and Spread approximately 1,900 cu. yds. of processed road gravel (22-A Modified) at two (2) locations in Wayland Township.

R. Smith & Sons	Location #1 =	900 cu. yds.	@	\$14.53	=	\$13,077.00
	Location #2 =	1,000 cu. yds.	@	\$14.53	=	\$14,530.00
				Total	=	\$27,607.00